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00 4.28 (000000000) 0000 f:U -V OODOOOOOOOOD UO0OO0O00Y =
{ui,ug,- ,u,} 000000000000000 (21,8, ,%,)s 000000000 VOOOO
II = {vy,v9,-- v, 000000000000000 (§1,52,,9m)n 00000000000 AQ
f000000000O00O0O

X1 1
- - . ) ~ 2
y = Az, T = , =

Tn Um

gboboobooobobooboooboobooon

00 429 (0000) U=R", V=R"O0O00OR"00000000 {e1, e, - ,e,} OOOR™ OO
000000 {e,,e,---,e,} 00000000 =&, y=9g000000(0)0 y=Az 0000
0000000000000 0000000 ADODODODOOOOOO0DOOOO00D AODOOOOO
0o00000o0oo

00 430 (0000) 0000 y=f(x)=Az00000000000000 AODOOO

00 431 (D0O00O0O0OO0ODOO0OOOOO) D000 f:U—-=VOOOOUOOO {uy, ug, -,
u,} 0V OO0 {v,ve,---,v,,} 000000000 ADODDOOOODOODO

(f(u1), f(u2), -+, f(un)) = (v1, v2, -+, V) A

00000000 {u),u), -, u,}0VO00 {v),v)---,0,} 000000000 BOOOOO
0000

goooooon
B=Q 'AP
odoooooodD p,QUOO0DOOOOODODOOO
(u’l, uh, u;):(ul, ug, -, Up) P (’Ull, v, “-,vlm):(vl, vy, e, Uy) @
oooo

goobog oobod

(F(uwh), fluh), -, f(up))

k k k
= (Zpklf(u;c)7 Zkaf(u;c)¢ Ty Zpknf(uz)>
k k k

= (f(u1)7 f(u2)7 T f(un))P
= (v1, v, -+, Uy) AP
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ugoboooboogod

(f(u/1)7 f(u,2>7 ER) f(u;l)) = (vllﬂ U/27 ) Um)B: (Ulv V2, -, Um)QB

O0000oooAP=@BOOO

~

B=Q'AP
oooooo

00 432 (00000000000000000) 000000 U000 {uy, -+, u,} 00000
000 f000000 AD0O0000 {u),---,w,}) 0000 000000 BOOOOOOOOO
{uy, - ,u,} 0000 {u),---,«,} 0000000000 POOOOOOOO

B=P'AP
000000

0000 0OO0O0OOoooo A, BODOOOO

(f(u1)7 T f(un)):(u17 "'7un)A7 (f(ull)7 T f(uil)):(ulh B 'u';z)B
ooooooooooono PO

ooooooooa
(fwh), -+, flup)) = (flwr), -+, fun)) P = (w1, -+, uy) AP,
(f(uy), -, flup)) = (uh, -, up) B= (w1, -+, up) PB
0000000 AP=PBO0O0OOOOO B=PlAPDOOOO
0 4.33 (0000000000000000) 0000 F:Rlz]y — Rlz)sy;
(0)  glx)=F(f()) = f'(@)z+ f(0)2” + f(1)
O0D0D0D0D00000R[z], 0000 {1, z, 22} 000000 f(z), g(z) 0000

ao

(D ) f(.%') =ap +a12 + CL2$U2 = (17 xz, xQ) ay| = (1a Ly $2) a,
a2
bo

(A) g(x) = by + by + by = (1, T, x2) bi| = (1, T, .%‘2) b
b2

00000000 (0)oo0

g(x) = F(f(x)) = F(ap + a1z + asx?) = agF (1) + a1 F(x) + G/QF(.CUQ)



00000000f=1,f=2,f=220(0)0000000000 g=1+2%g=1+2,1+22%20
oooog

1 11
(F(l), F(x), F(x2)) = (1+ac2, 14z, 1+2x2) = (1, T, x2) 01 0= (17 x, x2)A
1 0 2

0000A000 {1, 2?0000 FOOOOOODODODODODODOOOOO
(0) g(z) = (1, z, 2*) Aa
O0000(Aa)000000 b=Ae00000000000O0O0ODO FO

ag

1
(p:]R3—>R3; b = y(a) = Aa, bi| = |0 ai
1

O =
N O =

a2

00000000D000000 0000000
D000 {1+z, x+2% 2’} 00000000 BOOOOOODODDOOOBO

(F(1+z), F(x +2%), F(z*) = 1+, z+2° 2°)B

0000000 {1, z, 22} 00 {1+, x+2% 22} 000000 PO

10
(1—1—37, z + x2, x2) = (1, x, x2) 11 = (1, x, $2)P
0 1

_ O O

00000000000000000 f(z), g(z) O

@) flz)=ao(l+ )+ ai(z + 2*) + aga’
=14z z+2% 2%) |a1| = (1 +a, z+2° 2°)a= (1, =, 2%) Pa,
(m) g(x) =bo(1+ )+ by(x + 2%) + boa®

= (1—|—x, T+ 22, $2) b = (1—1—3:, T+ 22, 332)52 (1, x, ;1:2)Pb

a=Pa, b=2"rb & a=P'a, b=P '

000000000 ¥={1,z, 22, 000000 (ag,a1,a2)s 000 ¥ ={1+x, z+2% 22} 00
0000 (ag,a1,a0)yy 00000000 DO(D), @), (m)DDO

g9(x) = (1, z, &*) Pb = (1, x, 2°) Aa = (1, , ,2”) APa
O00000OPb=APa 0000

b= (P 'AP)a = Ba
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0000000000 ¥={l+a, z+2% 22} 0000 FOOODODO BO

-1

1 00 11 1][1 00 2 2 1
B=P'4P=1|1 1 0 01 0[]|110=|-1 -1 -1
01 1 1 0 2[]0 11 2 3 3

000000000000 ¥YOOoooooo FOOOOOO
bo 2 2 1] lao
¢:R* >R b= p(a)= Ba, b|=|-1 -1 —1{ |&
i)g 2 3 3 d2

gooog

4.7 0000 0O ODOOoOoooobDod

0 434 (000000000) 000000 f:RE—-RLz—yOO0O0O00000O0O
()0 zOD0ODO OUOOOD yOODODODO

T
(200 ¢D00ODO ODDDDDDDDDp:[l -2 1} oooo0o0obD 0000 /0000 ¥y
gooon
3)0 0000000000000 yOODOOO

~ T
(400 ¢D0DODO ODDDDDDDDDﬁ:[—Q 0 3} oooooobobD 0000 ¢0OOODO

00 20000 /000000000 yooooo

(5) xx3 0000000 yOODOODO (6) mxs 00O0OD0O0OD0 yOOOOO

(7) 1z OO0DO0OOUO0O yOOOOO )0 o00O0O000O0O0D yOOODODO
(9) 2, 0000000000 yODODODOO

(10))0J0 000 «00000DO0ODOUOO OOODOOUOO 300000 yOOOOO

0435 (000000000) D0D0O00O0OOODDOOOOOOODOOOODO

(1)f:R2—>R2,f(;D=[i_,fq_ll: _‘24]
e (14) - [ ([
s () - B o5

wrns([)-oo(f])

L
I
T 1
© ot
| S

[
1
Lo
—_
w@
| I
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0436 (000000000) 000000 f00000000O0O0OOOOOO00O0
(1) f:R* > R™ y= f(z) = Az

2)f R2—=R3 y=f(x)=(a,x)e;+ (b, x)es+ (c, x)e3

3) f:R* = R* y = f(z) = 2=

4) [:RP—=R*% y=f(z)=(a,z)er+ (b, x)e

5)f:R2—R% y=f(x)=(a,x)e; + (c, x) e

(6) f:R2—=R2 f0O fle1) =a, flea) =b0 0000

(7) f:R2—R2 fO fler) =a, flea) =c 00000

(8) f:R2—R2 f0O f(a)=b, f(b)=a 00000

9) f:R2—=R2 f0O f(a)=c, f(b)=a 00000000

0437 (000000D000) ODOOOODOO fOOODOOOODOOOOOOOODOODOODOO
(DR 000 {ur,ug, -+, un}, R 000 {vi,v2,- -+, 0}

0438 (000O0O00O0O0OO) 00OOOOO fOO

00000000000 0000000
1 -1 2 0] [0] 1] o
11, (1 ,RQDD[]{[],[]}
1’ |1
_0 1_

. R3 _, R2. _
R R M

0
1
z, R3000 {0
1

(1 -1 2 3
4) fR*-R%f(x)=]|0 2 0 1|z, R* 000
-2 1 1 2

- 1] [1] [o -

2 41 1l |2
(2) f:R® = R? f(x) = s 3%R3DDD{(1,%,{1 J@DDD{Q,[J}

L 1] 2] [t !

1 -1 o] o
B)f:R2 =R fla)=1]0 2 1), [1] p.

2 1 o] |1

0

1714 |3

e[} ) <o

9 4 3 1 1 1 1 1
4 3 4 1 1 0 1 3
5)f:R*->R)f(x)=|0 -3 1 1|z, R*O00O ol 11l e , R OO0 1],
1 2 1
0 2 1 0 0 0
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-1 1 0
0 —20 |-1
417131 ]2
2 ~1 3
T1 — X9 1 0 1 1 0
3 4 T2+ T3 3 4 2 1
(7) f:R> =R f(x) = ,R° 000 1], |1, (0] p, R* OO0
] R e
1+ 29 + X3 1 0
0] [o
ol |o
1’ |0
2| |1
T1 + 229 — x3 L 0 0 0
(8) f:R* =R fx)=| 221 —bxp, |,R*O0O 2 ! N1 R oo a
Tr1 — 314 R 0
1 0 2| |1
o] [1
1], |o| }.
1] |1
1 0 -2 1] [-1 3
9 fR—=R%fx)=|3 4 5 |z,RO000Z(2|,|5], |4
-1 2 3 3 2 -2
2 3 -1 0] [2 3
(10) f:R* = R% f(x)=[1 0 —3|=, R3000 [-2],|0]|, |-1| ;.
5 2 2 2] |1 0
(2 0 1] ['1' 2] [3]
(11) f:R® = R* f(x)= |-1 -3 1|z, R*000 < [1], |1], |1
2 5 2 o 1] [1]
1 -1 0] {’0’ 1] _Q_W
(12) f:R* =R f(x)=|1 -2 1|z, R*000 ¢ |1], |0], |1] ¢-
-2 4 3 o 1] |1

O

439 (0000000 0OO0) DOD0O0OD0O0O FOOODDODOOOODODOODDOOOOOODOOOO

(1) F : Rzl — Rlal; P(f(@)) = f/(&), Rial 000 {L,2,2%, - ,a"}.

(2) F: Rlz], — Rlz]n; F(f(2)) = f"(z), Rlz], 000 {1,z,a% - ,2"}.

(3) F: Rlz], — Rlz]n; F(f(2)) = f"(z), Rz}, D00 {1,z,2% - ,2"}.

(4) F : Rlz], — Rz],; F(f(z)) :/0 y)dy, Rlz], 000 {1,222, - 2"},

(5) F : Rzl — Rlals; F(f(2)) = F(0) + f(1 )ﬂ:+f( 22, Rlzl; 000 {1,2,2%}.

(6) F : Rlz]o — Rlz]o; F(f(x)) = f(0)+ f(1)z + f(2)2? Rlz], 000 {1+az,2z+2%1—22}.
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f(@) = f(z) +af'(z) +2%f"(z), Rlz], 000 {1,z,2°}.
(f(@) = f(z) +af'(z) + 22" (), Rlz], OO0 {1+z,2+2%1— 2%}
f(x) f(O)—Qf’(x) (1—22)f"(z), Rz} 00O {l,x,xQ}.
0)—2f"(z)+(1—2?)f"(z),Rlz], 000 {1+az,2z+2%1—2?}.
f'(z) +3f(z), Rz}, 000 {1,z,2?}.
x)) =2f"(x)+3f(z), Rzl 000 {1+z,2+2?1-2z%}.
4.8 00O0O0OODOOO
00 4.40 (0) ODOOO f:U—-VOOODOODO
Im (f) = fU)={veV]|v=/[f(u),VueclU}
O fO000imaged 0000
00 441 (0) OOOO f:U—-VOOODOODO

Ker (f) ={ueU] f(u) =0y}
O fO000kerneld 0000

00 442 (000000) 000D f:U—-VOOIm(f)0DVOOOODDOOODOO

0000 O Im(f) cVOOOOD vi,v0 0000 vy = f(uy), va = f(up) 00000000
u,u, €U 000000000

flauy + fur) = af(ur) + Bf(u1) = avy + Bvy

0000000000av; +6v, elm(f) 00000000000 v, €lm(f) 00000000
a,e KOOOOOaw, +Pv, cIm(f) 00000000Im(f) 0 VOOOODOOOOO

00 443 (000000) 0000 f:U—V OO Ker(f)0 U 000000000
0000 O Ker(f)cUDDOODO u,up O f(u) =0y, f(ug) =0y 0000000000

flouy + fug) = af(ur) + Bf(uz) = aOy + 30y = Oy

00000000 cu; + Buy € Ker(f) 00000000000 uy,us € Ker(f) 00000000
o, KOOOOOau, + Puy eKer(f) 000O0D0D000Ker(f)0 U 000000000

4.9 0OJ0O0O0O0OOOCOOOOOO

oo 4.44(DDDDDDD) 0000 fO00 Im(f) 0000000 rank00O0O0OO
vank (f) = dim(Im (f))

goooooooboo Ker(f)DDDDDDDDDnu]lityDDDDD
null(f) = dim(Ker (f))

gooooo
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00 445 (0000000) 0000 f:R* > R™ y=f(z)=Az 0000
rank (f) = rank (A)
ooooooofOoO0DOOO
null(f) = n — rank (A)
gooog
o000 0O foObOOoO0OO
Ker(f)={xzeR"| Az =0}

0000000000 Az=000000000000 Az=0000000000000 n—rank(A)
gboobobobobobob

null(f) = dim(Ker (f)) = n — rank (A)
goobooono foOOoboOobOOoO
Im(f)={y=Ax | Ve e R"}
D00O0Im(f) D0OO00OD
xy
y:Aw:[al a -+ ap LE:2 =zxi1a1 + 209 + - + THay
a:.n
gboboboboyooboooood ar,---,e, 00000O00O0O0O0O
Im(f) = (a1, a2, ---, an)p
ooboobooboboobuoo 1obooboobuooboboobooono
rank (f) = dim(Im (f)) = rank (A)
goooon
00 446 (0000000) 0000 f:R* »R™ y=f(z)=Az 0000
null(f) + rank (f) = n = dim(R")
gooooooooooo
00 447 (000O0O0OO0O0) ODOODO f:U—-VDOOOO
null(f) + rank (f) = dim(U)

gooooo
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0000 Ker(f)cUDOOO {uy, -, u,}000Im(f)cvV 0000 {vy, -+, v, 0000000
UODO0000 U, Upps O

f(urpr) =v1, oy furgs) = vs
gddooooooood 1o0od
ajul + -+ + apthy + b1y g1 + sty s = Oy
ooo0o foo0oooOon
flarur + -+ apuy + brupgr + -+ bsturys) = f(Op)
arf(ur) + -+ ar f(ur) + b1 f(urg1) + -+ + bs f(urys) = Oy

a0y + -+ a0y + byvy + - + bsvs = Oy
bivy + -+ bsvs = Oy

odddwv, ---,vs 01000000 =---=b,=000000000
auy + -+ apuy = 0y

0000w, -, w, 010000000 a=-=a=00000000 u, -, Wy, Uri1, -, Uris
0100000000000 O00000000 «0 f000000000 f(wO VOOOOOOO
oooo

flu) =bjvy + -+ + bsv,
goooooooo

flu=brurgr = = bstbrys) = f(w) = b1 f(urgr) = -+ = b f(Urss)
= (bl’v1 + - —|—bs’05) — (b1v1 + -+ bsvs) = OV

0000000000 u—"biups —--—bsurps O Ker (f) 000000000
U —biuppy — o = bsUpyps = a1ug + - + apuy
ooooooo
U= aiul + -+ apy + b1y + -+ sty
O0O00aq,- - ,ar, b1, --,b, 000000000
W= (uy, -+, Up, Upy1, "=+, Upis)

O0000oo0oooO0r4+s000000 {uy, -, wpy U1, Uy 0 U 0000000 OOO
dim(U) = r + s, null(f) = dim(Ker (f)) = r, rank (f) = dim(Im (f)) =s 00 0O

0448 (0OD0OOUOOOODODOOO) OODOO

f:R> = R3; y=f(x)=Ax
2 -1 1 5 0



00 Im(f)00 Ker(f) 000000000000 rank(f), 0000 null(f) 00000
00 ADDDOOOOO

—1 2| =|by by b3 by bs
0

N
!
Sy
Il
[
S = O
O =

O000ooonO bi=e,bo=e, 01 00000000000000003
b3 = b1 + by, by =2b; —by, bs=0b;+2by

gobooboo 10000 ayg,---,as 00000000000 a,a 0 10000000000
oooobgo

(D) a3 = aj + aq, a4:2a1—a2, a5:a1+2a2

O00000ooon0D Az=0000

_xl- -—xg — 2.%4 — .%'5- -—1- -2- -—1-
T9 —x3 4+ x4 — 225 -1 1 -2
(0) x= |x3| = x3 =c1| 1| +ec2|0|+c3| 0| =crur+ cous + caus
X4 x4 0 1 0
Ts5 Ts5 0 0 1

gooooo
fOO Ker(f)DOODO Az=000 (0)0D00000OODO

Ker(f):{azeR5 } Aw:O}:{clu1+02uQ+03U3| ci1,62,c3 € R} = (w1, ug, ug)p
0000{uy, we, uz} 0 10 000000Ker(f) J0OD0O0DDO0OOOOOOOOO
null(f) = dim(Ker (f)) =5 —rank (4A) =5—-2=3

oooooo
fO00Im(f)00 y0OOO0O0O000 zeR500000

I
’y:Aw:[al a5:| :x1a1+...+$5a5

Ts

O0ooooo@)ouooo

Yy = z1a1 + x2a2 + x3(a1 + a2) + 24(2a1 — az) + z5(a1 + 2as2)

= (21 + 23+ 224 + x5)a1 + (22 + 3 — x4 + 225)a2 = c1a1 + 202
0o0o000ooood eqq=x14+z3+2x4+x5,co =220 +x3—x4+22; O O0O0DO0DO0O0OOOOO
Im(f):{y:Am] $€R5}2{$1a1+"'+$5a5 | z1,---,z5 € R}

= <a'].’ az, a3z, a4, a5>R = <a'17 az, ai + as, 20’1 —az, aj + 20’2)R — <al7 a’2>]R
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000000{a;, a2} 0 10000000Im(f) 0000000000
rank (f) = dim(Im (f)) = rank (A) = 2

gooog
000000 Ker(f)DOOD Az=00000000000000000000OODOOO

Ker (f) 2 x = cyuy + cous + c3us

000OKer (f) = (w1, ug, us), dim(Ker (f))=300000000000000030000 Ker (f)
0000000000 fO0O00ODO0O0O0OO00 0eR?000000000000O000OO00000
0000000000 fO000300000000000000000000 yeR3000000
00000000000000y=f(z)=Az 0000 2cR°00000000y0 yelm(f)O
000000000000000 Ae=y0000000000000000000

T = q+ crul + coug + c3us, q=Py, PA=B

OO000O0OO0OOPDO AODDODODODODOCOCOOG, 0,3 000000D0000COCDO0ODOD0 Az=y O
oboob 3booooooooooooon

Wy: { x cR? q + ciuy + coug + csug, Ve, co,c3 GR}

0000000000000000000000 Ker(f)O ¢q 000000000000000000
00 f0000 yelm(f)000030000 W, 0OOOOO0O000000 ¢y000000000
000 30000000000y 0 Im(f)000000000dim(Im(f))=200000010000
000000000 y,,y, 00000000 ¢, =Py,,q,=Py,010000000¢,,q, & Ker (f)
0000 {uy, ug, us, qy, ¢} 0 RPO0000O0O0O0O000

R5 = <U1, Uz, us, 4y, q2> = <U1, u2, ’LL3> D <q17 q2>
goooooooon
dim(R®) = null(f) + rank (f)

gooooo

4.10 0OO00OO0ODOOO0OO0

00 449 (0000) 0000 f:U—-V;y=f(e)0g:V-W;z=¢g(y) OODODOOODO
heU—W;  z=g(f(x))
O f0 ¢gO0O000DOOcomposited D000
h=gof
oooooo

00 450 (000000000) DODODOOODOOOOOOOOOOOOOO
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00 451 (000000000) 0000 f,¢0000000000 4, BOOOOOOOOOOO
00 h=gofO000000 C=BAODOOO

0452 (000000000ODOO0OO) 20000
f:R* = R™; y=f(x)=Axz, A:mxn
g:R™ - R z=g(y)=By, B:lxm
gooooooon
h=gof:R"— R
z=go f(x)=g(f(x)) = B(Ax) = BAx =Cx, C:lxn

ogoooooogn

gooog

4.11 000000000

00 453 (00000O0O0O0OO0O) UOOO f:V—-VOOOOODODOUOOOOODOO
oooo voood {w, - ,u,} 00000000 fOO0O0OOOOCOOOO
flu) =wy, - f(un) =un
gopboogooo
(fua) -y fun)) = (w1, -5 un) = E(u, -, up)
gbobobobobobobo FOODOO

4.12 00000000

00 454 (0000) O0O0OD f:V—-VOOUOD10100000000f000000 regular
mappping] O0O0O0O0

00 455 (000) 000 101000000000 f'0000000000000000000
gbobodgboobbooobooobod

00 456 (00O0O0O0O0OOO0O) ODOODO fOODO0DO0DODODOOODOOOfOODOOOOOOOOOO
gobooboooboooooboon

0000 (=)00 f,¢g,h000000 A, B,COODOOO0O0O0O
gof=h & BA=C

00000000000000000000 E0D0O0O0O00g=f"'000
flof=id & BA=E

000000o0do B=A"'0000O
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00 457 (0000000) f~'00000000D0fO0O0D0OO0 ADOOO A°'O0O0DODOOOOO
gbooooo

0458 (00000000) 0000 f:R?2— R
1 2 1 —4
(B)-F AAED-1

-1 3 13
3 1 1

gboboboobobooo

A= = —10#0

], damyw;

ooo0bAQOOODDOOOOOODfOODOOOODOO

0 459 (00000000000) 0000 f:R3 R y=f(x)=x— (x,e3)es 1000000
00000

1
A= 10
0

o = O

0
0, det(A) =
0

S O =
O = O
o O O
I
es}

0000000 ADDDOOOOOD fO0000000000O

0000 (w1,22,1) 00 (21,20,2) 00000 000000000 (21,22,0) 00000000
00 (z1,32,0) 0000 23 000000000000 f0000 (21,20,0) 000000000 f¢
0000000 (z1,2,,0)00000000000000000000000000O0 fO01010
O0000000OR3 000000 fO00000 2200000000072, 000 R*OOOO0
0000000 f00000000000

00 460 (D0O0O0O0ODO) D000 f:V—-VDOwl(f)y>00000f00000000000O
O0O0OKer(f) DODODOOODO Oy DO00O0O0DODO0OOy DODOOODOOOOOOOODfO 1010
gbobobobobooboooo

4.13 0000 O ODOOoOooobo

0 4.61 (00J0DO0O0O0O0OOO0O0) O00D0ODO0O0O0OUOOO0OODOOO0ODOOO0OOODODOO0OOOOO
oooooofO0oOoOoooDoOobooOoOoOoo

(1) F iR R () = | | g]w (2) R — B2 f(z) = [;l :g]m
(3) f s R2 - B2 f(a) = 2 ;]w (4)f:R2—>R2;f(w)=[8 8]3,;

(5) £ : B2 - B2 f(z) = =_43 _ﬂ z (6) fiR2 R f() = [f _36] z
(1) R R () = =:§ g]:c (8) 7R — B () = [f) _Ollm
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0

(9) ]+ R — B () = [2

(11) f: R’ — R f(=)

(13) f:R® = R% f(z) =

:R® — R% f(x)

:R3

(21) £

(23) f:

3
0
3]3: (10) f:R? e R% f(x)=| 0 2|=x
-1 5
11 -1
1 3 -1 3 5
x (12) f:RP =R’ f(x)=1]1 2 1 |=x
0 2 2
5 7 -1

2 1 —1] 1 2 -1
-1 2 1|z (14 R =R}flx)=1[3 -1 —2|=
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A
p—| ™ !
0 M

gopoooggno
D = diag (A1, A2, -+, \p)
goodg

00 A00000 A, A, -+, A, 000000000000000000000000000M, A,
-, A, 000000CCO0000000O py,py,--+,p, 000000000000 Az=Xz 00

Apl = )‘1p17 ApZ = )‘2p27 Ty Apn = )‘npn

gobooboobbooobooboonoobo

[Apl Apy - Apn}:A[lh by - pn]:Apa

A1 O
[AIH Apy - Apn} = [)\1171 Aopy -+ Anpn} = [P1 Py Pn} & . =PD

0 A,
00000000 AP=PDO0O0O0OOOPODOOOOOOOODOO P'OOOO
D =P AP

gbobobpPUObODODODODODODODOOD py,py, -+, p, 01 00000O00DLODOODOO
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00 5.41 (000) 0000 AQDOOOO A, Mg, -+, A, 0000000000000000 py, po,
~,p,0000p,,py,-+,p, 0 1000000000A4DO

D=P'AP, D=diag(A\, s, M), p:[mrp2.“ PJ
0000000000

00 5.42 (0000000 10000) 000 A, ---, A\, 0000000000000000 py,
...,p, 010000000

oooo py,---,p,0100000000000000 »O0000p,,---,p,01000000p,,
P, Py 0100000000000

Pry1 =C1P; t 2Py + -+ P,
oo0o0o0ooOo ADOoodoo
Ap, 1 = c1Apy + c2Apy + - + ¢ Ap,
Ar41Pr41 = 1Py + 2A2Py + -+ G AP,
oooooooaNn 00000
Ar1Prg1 = LA 41D + QA 1P2 + -+ G A1 D,
oooooodooooooo
A1 = A 1)Prs1 = 1A = A)P1 + 2(Ara = A2)pa + -+ & (A1 — An)py
0=ci(Arg1 — A)Py +c2( A1 — A2)Py + - + (A1 — AP,

ooooooo py,---,p, 0 10000000p,-+-,p, 0 100000000000000000
M#A ML M #E AL M FEFA 000 =c=-=¢=000000000 p,.; =000
00000000000000000000000000000000p,,-++,P,, Py 010000
0000000 r=1,2,--- 000000000 r=n0000

5.15 2000000000

0 5.43 (0000000) OO

A:8—10
5 =7
goobogoo
Oo00ooD AODOOCOOO
t—8 10
t) =det(tE — A) = =t+2)t-3
gat) =destE—A) = |' > D= (t+2)(t-3)

O000000Oga(N) =000 A00000 Mq=-2,=30000Xx=X\=-2000
—10 10 ooo 1 -1

_—
-5 5 0 0
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9F - A=




O00(—2FE—-A)z=000000000000

w:cli =cp, (c#0)

Oob0O0OA=Xx=3000

3E—-A=

-5 10 ooag 1 -2
_
-5 10 0O O

O00@BE-Az=000000000000

2
e oo
0o0oo
00 ADDDDOOONOODO0D00000000 p,0000X% 000000000000

00 p, 00000000

A0 2 0 1 2

D: = y P:|: :|:
[0 M] 0 4 b1 P> L J

ODO000det(P)=-1#0000000P 00000000000 ADO
D=PlAP (1)

00000000
0544 (000000) D=P'APO0O00OO0OOCOOOOODOODOOOO
00 5.45 (00000000) 0000 f:R?—=R%y=Az000000

W(=2f)={cp | ceR} = (py), WBif)={cpy| ceR}=(py)
OD000dim(W(=2;f)=1,dim(W(3; ) =1, W(-2/)NnW(3;f)={0} 000000

W(=2f) oW f)=R?  dim(W(=2;f)) +dim(W(3; f)) = dim(R?)

O00000OR200000000000000W(-2;/)0000 {p,}0W(3;f)0000 {p,}0R2
0000 {p,p,} 0000

0 5.46 (0000) 0000 W(-2;f) 000000000000 p, 0000000W(3;f) 000
000000000 p, 0000000000000000000000

5.16 UDOUOOoObOOOOOO0OO

0 547 (000O0O0OOO) OO AO

D =P AP
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0000000000000 00000000 POOOOODOOO PlooOoOoO
PDP ' = PP 'APP' = PDP'=EAE = PDP'=A = A=pPDP!
Ooo0ooOooooooooono Ak O

A¥ = (PDP~Y(PDP™Y) ... (PDP™1)
= PD(P'P)D(P'P)... (P tP)DP!
= PDEDE---EDP!
= PDD---DP!
= ppkp~t

000000000 D =diag(A,Xe, -, ) DO000D*O

Alk
Ao O
D = ?
0 Ak
goooooooo
)\1k O
k A" 1
Ak =p P
0
gooao
O 5.48(DDDDDDDD) o
A & —10
5 -7

D =P AP, D:[_2 0], P:[l 2

gobooboooobooo

_ 1o2] [(=2)F o] |-1 2 (—1)FF12k 4 2. 3% (—1)k2k+l 2. 3k
AF = pDFpt = =
[1 1] [ 0 3’f] [ ] [ (—1)ktiok 438 (—1)kokHl — 3k

gooog
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517 300000D0O0O0ODO

0549 (00000O0ODO) OO

5 60
A=1|-1 0 0
1 2 2
Ooooooo
D0000 AODDOODOOO
t—5 —6 0
ga(t)=dettE—A)=| 1 t 0 |=(t—2)>2t—3)
-1 -2 t-2

0000000000 ga(A)=000AX=2(20),30000AXx=20000

3 6 0 1 2 0

dE—A=11 2 o == o o0 o0

-1 -2 0 0 0 O
DO000O00RE-Az=000000000000
—21’1 —201 —2 0

r=| 22 | =| c1 |[=ca|1l]|+c |0 =cp+cp (c1 #0, ca #0)
T3 (&) 0 1
0O000O0O0OAN=30000

-2 -6 0 1 0 -3

sSE—A=|1 3 o 2% |01 1

-1 -2 1 0 0 O
O00D0OO0BE-Az=000000000000
3:62 3c 3

T=|—a3| =|—c| =c|—-1| =cps (c#0)

T3 c 1

gbooooo
00 AOQOQOO0O0O0OO0ODO0O0O0O0O0ODOO0OD0ODOO0ODO0OCOODODOOnD A =2,X=2,
A3=300000000000000DO00D0OD0ODbDOD

—2 0 3
P = 1 3 Dby = 0 ) D3 = -1
1 1

oooboooboooboooboO0 A=20000000000 py,p,O00D0OODO1IOOOODOOO
goboobogo

2.0 0 -2 0 3
D = diag (A1, A2,A3) = |0 2 0], Pz[pl P2 p3}= L0 -1
00 3 0 1 1
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0o0oo0oooO AD
D =P AP
0ooooooon

00 550 (0000000) A, 2, A300000000000000D0O00O0OOOOODOOOOO
gooboboboboob p,POUODODODUODODODOD

00 551 (00000000000) 0000 f:R—=RYy=Az 000000
W2 f)={eap +cpy| cr,c2 €R}=(p, py), W3 f)={cps| ceER} = (ps)
0000dim(W(2;f)) =2, dim(W(3; f)) =1, W(2 /)NW(3;f)={0} 000000
W2 f)e W3 f)=R%,  dim(W(2; f)) + dim(W(3; f)) = dim(R?)

O00000R*00000000000000W(2;f/) 0000 {p;,p,}0W(3;f)0000 {ps}OR?
0000 {p1,py,ps} 0O0OD

0 552 (0000) 0000 W(2,f)000000000000n=p, xp, 0000000000
0 W(;f)000000000000p, 00000000000000000000000000

5.18 0O0OUOOUOOOOOOOO

0553 (000000O0O0O0O0O0OOO) OO

1 3 2
A=10 -1 0
1 2 0

ooobooon
ooO0ooD AODOCOOO

ga(t) =dettE—A)=| 0 t+1 0|=(t+1)>*t-2)
-1 -2

O000000Oga(N)=0000000 A=2,-1(20)0000Xx=20000

1 -3 -2 1 0 -2

2E—-A=1]0 3 ol =L Jo1 o0

-1 -2 2 0O 0 O
DDDDDD(?E—A):BZODDDDDDDDDDD
213 2c 2

z=|0|=[0]|=c|0| =cp; (c#0)
T3 c 1
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oooodboax=-10000

-2 =3 -2 1 0 1

—E-4A=]0 o o =L fo1o0

-1 -2 -1 0 0 0
DDDDDD(—E—A):I::ODDDDDDDDDDD
—T3 —c -1

x=| 0 [=[0|=c| 0| =cpy (c#0)

T3 c 1

gooooo
OO0 A00DDOCOUOU000ODCODOU000DDOCO0O00DDODOO0O0OO0ooO Ar=2, =-1,
A=—-10000000000000D0000D0bD0ODbO

2 —1 —Q
P = O ) Dby = 0 ) p3:ap2: 0
1 1 Q

ooooooooooob0 A=—-1000000000DOO010Db00O00DOOODO0OODDOO
o0ooooooo wW(-1;f/)0 100000010000 2000000000000000000O
goog

P = |:p1 Do p3}
00000000000000
deUZﬁlpngZﬁlpgamwzaﬁ1p2pﬁzo

000000000000000 AODOOOOOOO
00 5.54(00000000000) 0000 f:RP—-RYy=A4Az000000

W2 f)={cplceR}=(p1), W(ELf)={cpy| ceR}=(py)
0000dim(W(2;f)) =1, dm(W(-1;f) =1, W(2; f)nW(-1;f)={0} 000000

W) eoW(=1/)=R*#R%  dim(W(2; /) +dim(W(-1; f)) = 2 < dim(R*) = 3

0000000000000 REOODODOOOR* 0000000000000 AOOOOOOOOO

5.19 0OOOO0ODOOO

00 555 (00000000) 0000000000000000000000000 AODOOOO
A, -, A\, €CO0000000000 py,-+,p,€C*O0000py,---,p,0 100000000

D = P_IAP’ D — diag ()\l’.. . ’)\n)7 P g [pl “ e pni|

gobooobooooo
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000 5.56 (000) »n 00000 ADDOOOOOOODOOOOOO A,he,---,A 000000
000000000000000000 p,p.,-,p, 00000000000000000000O
O A, Ao, A (r<n)0000f00000 f:R*"—->R%y=Az0000

T
(1) p1,poy--+,p, 0 1000000000000 dim(W(X;f)=n0000

=1
(i) AL, A9, -, A, €RO0O00O0DO
(a) DO0ODD0OO0OOODODUOODOOOO
(ii) A, A2, A €COODDO
(b DDODODOOOODODOOOOOO
(¢ D0O0OOODOOOOOOOOOCOOODOOOOOOOOOOOOOOOO

'
(2) p1.py,---,p, 0 1000000000000 dim(W(A;f)<nO0D000
=1

(d) 00 AODDDOOODODUOOOOOOOOO00ODOOOOOOOOODOOOOODOO

5,20 00000000
oooo f:R*—R™Y
)  y=flx)=Az
0000000 AD0OOOOOODOOO0O0O0O0
D =P AP
00000000000 POO0OOOOOOO P'OOOOO
A=pPDp!
0000000 (0)00000o

y=PDP 'z = P ly=DP 'z

goooood
(d0) =P le, y =Py & x=Px', y=Py
gooon
(O) ' =Dz
0oDo(@)o
x1 x)
x1 zh,
= = |P1 P2 Py : = Px’
Tn m"

r1€e1 + woes + -+ T = TPy + Thpy + -+ 20D,
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00000000@)00000 % = {er, e, ,e,} 000000 (wy,22, - ,2,)y 000 % =
{p1, Py, ,p,} 000000 (2,2, ,2,)y 000000000000y, vy 000000000
00000 (0)0000000 p; 000000000000000000000 R®—RYz’ —y
000000O000O000o00o0

Yi A1 O T A1)

! A T Aot
Ya 2 2 247 / '
ST - T : = Y=

ooodood ; 0000ddooooooooodoon x;HijQDDDDDDD

5.21 0OD0OU0O0O 0O 0OOOoooboO

D5.57(DDD)DDDDADDDDDDDDDAkDDDDD
10 2 0 1 3 -1 3 a 0 2 1
ol ol ol el ok el

1 -3 1 V3 4 3 -1 2 1 2
G [1 1] ®) [ﬁ _1] o) [ﬁ 2] (10 [2 2] ) [3 2]

cosf) —sinf 0 1 11 7 —6 13 —30
13 14 15 16
sinf cosf ] (13) -1 0 (14) 01 (15) [3 —2] (16) 5 — 12]

[ w s e e[

(12)

31) |0 1 4 (32) |-1 2 1 (33) |0 21 (34) |0 1
-3 3 -1 0 1 -1 0 -1 1 1 -3 3
[2 1 0 1 -1 -1 1 0 -1 -3 -9 —12
(35) |1 2 ol (36) |1 -1 0 B37) o 1 —-1] (38 |1 3 4
11 1 1 0 -1 -1 -1 2 0o 0 1
2 2 0 2 1 1 0 i 1 1 -1 2 1 1 -1
(39) |12 2 o] (40) |1 2 1| @41) |—=i 0 i| (42) o 2 1| @@3) |1 1 1
00 1 11 2 1 —i 0 0 0 3 -1 1 1
(1 -1 -1 1 1 -1 2 1 -2 5 0 6
(44) |-1 1 —1| @45 |1 1 —-1| @6 |1 2 =2 @) |o 7 0
-1 -1 1 -1 -1 1 -2 -2 5 6 0 4
_ 32 2 —4
1 3 1 -1 0 1 5 3 9 1
(48) [0 —2 —1| (49) |2 3 2| (50) |0 2 —1| (51) oy
3 -1 1 1 1 2 01 2
2 2 2 2 -1
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-1 -1 -6 3 1 2 01
1 -2 -3 0 0 -1 5 4
(52) (53)
-1 1 0 1 0 0 20
-1 -1 -5 3 0 0 0 3
5.22 0000

00 558 (0000) 00 A= [a;]| eC™" 0000 A= [g5| DODOOO

00 5.59 (0000O00) OO A:[aij}eCmX"DDDDDDDDDDD A =@ " =ATooo
00O

00 5.60 (0000) 0000 AD
AA* = A*A
000000 ADDDODOOnormal matrix(d 0000
0 5.61 (0000) 0000000D0O00000O0
e D000 & AT=4
e J0OOO & —-AT=A4A

0000000 & A=A

oo0oo0ooon0 & —-A*=A

e 1000 < ATA=AAT=-E

e J000OOOD0 <& A*A=AA*"=F

00 5.62 (00000000) \,p00000 ADODDOOODOOODOOODODOOODOOOON pO
Ax00000O0O0COO0O0O0OoOoDO

oooo
|A*p — Mp||*> = (A*p — Ap, A*p — Ap) = (A*p, A*p) — (A*p, Ap) — (Ap, A*p) + (\p, Ap)
= (p, AA*p) — X(p, Ap) — XA (4p, p) + M\ (p, D)
= (p, A*Ap) = X(p, Ap) = A(Ap, p) + \\(p, P)
= (Ap, Ap) = XX (p, p) — A (p, p) + A\ (p, p)
= (AP, Ap) — A\ (p, p) =M\ (p,p) — A\ (p,p) =0
00 A'p=Xp 0000
00 5.63 (000000D00000) 000000000000000000000

0000 000 AMp(MN#4p)DD0D000000 w,» 00000000 Au=Mu, Av=po 0000
000 Av=pv 00O

AMu, v) = (Au, v) = (Au, v) = (u, A™) = (u, ) = p(u, v)
000000000 A—p)(uw,v)=00000A#4x,000000(uw,v)=00000
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5.23 0ODOUOOOooOooOO

00 5.64(0000) 00 AeR™™ 0 AT=A0000000A000000symmetric matrix
googo

00 5.65 (0000) 00000

air a2 -+ Qin

a1z a2 a2n
A=

A1p  A2n -+ Gpp

gbooboobooo
0 566 (00000000) 0000O000O0OODODOOO

1 0 =3 2 -1 2 3 0 0
10 1 -1 0 3
],[ ],[ ], o -1 2{, |-1 4 -1, |0 =1 O
-3

0 1 -1 2 3 -1
2 5 2 -1 -3 0 0 2

E =

00 5.67 (J0000000) O0DO0ODOOOODODODOOOOODOOO
0000 Az=X00000COOCOOOOOO

Az, z) = \(z, z) = Az
Az, z)=(z, \x) = (x, Az) = (A'z, z) = (ATz,z) = (Az, ) = Az, z) = \(z, x)
= Alz[|? = A

Ooo0ooooo

(z, Ay) = (A", y)
000000000000A=A000000A0000000
00 5.68 (00000000) 0000000000000 00000O00000000000
00 5.69 (000000000) 0000000000000
00 5.70 (00000000) 00000000000000O00000O00000O000

0000 00000000000000000000000000000000000000A7T = A4,
Au=du, Av=pv, A\ 000000000

Au, v) = (Au, v) = (Au, v) = (u, ATv) = (u, Av) = (u, w) = p(u, v)
goad
(A=) (u, 0) = 0

O000000MA#4p00 (w,v)=00000
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00 5.71(00000000) D0O0OD AODODODOO DOODODOUDOD UODOO

D=Q 'AQ = Q" AQ,
D = diag (A, -+, \n),

Q:{‘h qn:|7 (qi7Qj):5i'
oooooooo

5.24 2000000000

0572 (0000000O000O0O0O) ODDOOO

A=

1 2
2 1

OooooooopooooAO0OODOOOOO

t—1 =2
-2 t-1

ga(t) = det(tE — A) =

0000000000 ga(\)=000X=3,-10000

9 _f] coo [1 —1’ Cpa

(t—1)2—4=1t*—2t-3=(t-3)(t+1)
3E— A=
—2 0 0

-2 =2 ooo 1 1
_—
-2 =2 0 0
O00OXN=30 X=-1000000000000000

CE el G

DDDD@Dm}DlmmmmmmmmmpzhlpJDDDDDDDDDDPDDDDDDDDD
0000000000000000000000000(p,,p,)=0000000p,0 p,000000
0000000000000000

q_p1_11 q_p2_1—1

1= 7= 7= ) 2= T =

lpill V2|1 Ipoll V2|1
DDDDD(qi,qj):éij(é,j:1,2)DDDDDDDDDDDDDDDDDDDD AO

= Cp2

3 0

D=Q'AQ =Q"AQ, D:m%@ﬁnzb »

H
Sl

[\
—_

], Q:h1p4:

S-Sl
S

00000 QoOOooooooo

00 573 (000000000) 0000 f:RE-R%y=Az000000
W(3; f) = (p1) = (q1), W(=1; f) = (p2) = (q2)
0000dim(W(3;f) =1, dim(W(=1;f)) =1, WS; /)nW(-1;f)={0} 00
0)  WEHoW(L) =R, dm(W(3;[))+ dim(W(-1; f)) = dim(R?)

00000000 W(3sf), W(-1;f)0 RR000000000000000000000000000
00000000000000000 WE;f) LW(-1;/)0000W@E;f) LW(-1;f)0 (@)000
W3 )0 R20000 W(-1;f)00000000000000 W(-1;f) 0 R20000 W(3;f)
0000000000
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5.256 30000 ODO0O0OO

0574 (0000000O000O0O0O) ODDODOO

1 -2 1 1 -2 1

oB-A=|-2 4 —2| 225 1o o o,
1 -2 1 0 0 0

5 —2 1 10 -1

—4E-A=|-2 —2 —2| 2%, o1 2

1 -2 -5 00 0

obbox=20 A =—4000000DO0ODODODODO

_23;2 — X3 261 — C2 2 -1
T = 9 = c1 =c1 |1l| +ca| O | =c1py + c2poy,
| 23 co 0 1
[ T3 c 1
= |—-2x3| = |-2c| =c|-2| =cp;
B c 1

DDDD@hmmﬁD1DDDDDDDDDP:@1p2pJDDDDDDDDDDPDDDDD
00000000000000000000000000000

(P1,P2)=-2#0, (p,p3)=0, (py,p3)=0
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0000O00p, Lps,py Lp; 0000p, p, 10000000000000000000000p;0
000000000

2
D1 1

q _= = 1 N
Yl VB |

/

Po=py— (P1,q1) Q4

-1 -1 2 2 -1 -1
B 0 1 . 1 N -2 1 )
1 1 ¢50 50 1 V55 5
-1
/
Y2 1
GO=77="7=121|,
27 phll - v/30 -
1
D3 1

—2

qzizi
*pll T VB |

00000(g,¢q;) =65 (,5=1,23)00000000000000000000 AC

D=Q 'AQ = Q" AQ,

2 0 0
D =diag(2,2,-4)= 10 2 0 |,
00 —4
2 _ 1 1
V5 V30 V6
Q= |l 2 @ _ 2
[pl Do p3] V5 \/53*0 I/g
0 Tm %

00000 QOOO00000
00 5.75 (000000000) 0000 f:RE—-R%y=Axz000000
W(2 f) = (p1, p2) = (a1, @2),  WI(=4[) = (p3) = (a3)
0000dim(W(2;f)) =2, dim(W(=4;f)) =1, W(2; f)nW(-4; f) ={0} OO
@) WEHeWE4) =R,  dim(W(2f)+dim(W(-4; f)) = dim(R’)

00000000 W(f), W(-4;/)0 R®O00000000000000000000000000
00000000000000000 W(2f) LW(-4;f)0000W(2;f) LW(—4;f)0 (0)000
W(2f)0R 0000 W(—4;f)00000000000000 W(—4;f)0 R¥*0000 W(2f)
0000000000

5.26 0000

000 AeR™ 000000 ADD0ODODODOOOOOO AOOOOODOODOODODOOOOOOO

00 g4(t) 0000000000g4(\)=0000 g4(A)=000000000000000 A000
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00000000 pO0000 Ap=Ap 000000000000 Ap= p000000X0000
00000000 pO00O0000O

Ap=2Xp, Ap=)Xp

gooboobooo

A(P TP AN (AN (PP (A=A\ (PP
2 o 2 o 2 2 2i 2i )’
A(P-P A= Xp_ [(A=X\[(p+D N A\ (p—D
2i 2% 2i 2 2 2i
z+7z z—Z
000000000 20000 Re(z) = ,000 Im(z) = 00000000 »00000

7

00000000000 Re(v) = [Re(vi)]nx1, Im(v) = [Re(v)]nxa 00000000
ARe(v) = Re(A)Re(p) — Im(A)Im(p), Alm(v) = Im(A)Re(p) + Re(A)Im(p)
ddd2z2x2000000

Re(\) —Im()\)

Im(\) Re(\) | TP

AP = A[lm(p) Re(p)] = [1m(p) Re(p)

000000p,p0 1000000 POODODOODDOOD=PtAPOOOOOO
00 5.76 (0000) 000 AeR™ 0000000000 OCODOOOOODOOOOO

(CB )\17 )\2 :)\717 )\37 )\4:)\737 R} )\2k—17 )\2]{? :A2k—17
RB )\2k+17”' 7)\7L

ocooooooooooooood py,---,p, 00O0O0O0OOODODO AD

D =P AP,
"ROV) -
R(X\2)
B h ~ [Re()) —Im())
0= Han) Aoki1 7 R = Im(A)  Re())
. i An_
P = Im(p,) Re(p;) Im(py) Re(py) -+ Im(pyr_1) Re(Por—1) Poki1 - P2k+1}

0000000000000 00O00DOOOO0OOreal canonical form??27200000

0 577 (00000000) 00
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gobooaoo

t—2 1

=2 _4t+5
-1 t-2 +

ga(t) = det(tE — A) =

oooooooooo gA(A)ZODDD
M=241i, M=2-—1

gobooboobbooboooboon

i 1] ooo [1 —i]’ (2—i)E— A=

-1 3 0 O
r
r =2cC
1

Oo0o00O0no Agooooooooogogo

(2+i)E— A=

gogd

= Cpq, T =c [_11 = CPy

D =P AP,

D =diag (2 +,2 — i) =

Pl w1 7]

000000 ADOODDOOODODOOO0O0000M=),p,=0700000000000

0 2-z

2414 0]

D =P AP,

Re(\1) —Im(\)| |2 -1
Im(A;) Re(A;) | |1 2|’

P= [Im(pﬂ Re(pl)} = [(1) (1)]

0ooodd A=D, FE=PUO000000ODAO0OO0OODOOOOOOOOOODO

5.27 0OOOOOODO

00 578 (D00000O0) 00 AeC™0 A*A=FO0000000ADOOOOODOOO unitary
matrixO OO0 00O

00 5.79 (000000000000) 0000000 ADDDODOODOODOOOOAA* = AAT =
rooooooooooooooooog

00 5.80 (000000000 O0) ADDOOODOOODODODOODDOOODOOOO

(1) det(A) = +1.
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(2) ADDODODODOO

(3) A~ = A,

00 5.81 (J0O0O0U0O0OOODOOOUOO) 00 AeC 0000000 UODOOOOOOADOO

goooooooboooOoobooooobOooOoOobOoDbboOooOoDOoOooboooDboDooOo coog
gooooo

0 582 (000000000O0O0O0UO) U000O0ODOOODOOOOO

0583 (00000000000) DOOOODOUDODOUOOOODODODODODOODOOOD

-1 - 1
1ol [ w Lo 0 Vi Vi VA
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